m [isllelg 80 B

Fitting for top-running wooden doors up to 80 kg (176 Ibs.), with surface mounted
running track or running track flush with the ceiling. Optionally with soft and self closing
mechanism. Wall or ceiling mounting. Minimal installation height.

Product highlights \=\ /
ﬁTﬁ Flexibility Running tracks for wall and ceiling mounting T
with integrated clip-on system for clip-on panels

M Productivity = Tool-less door mounting

Technical specifications

[ Max. 80 kg (176 Ibs.)

w Max. 4000 mm (13'1 15/32")

&>  Max. 3000 mm (9'10 1/8") |
\

[« 35-80 mm (1 3/8" to 3 5/32") i —

Installation examples

34 D
T Removable 535
Demjontable i
LN — %
: ] j 1 -
[ ] \‘ /e | e F 3
Blofe _
|4 I wlleofe
Q3 Qe
L i L
22 -4 22 Ja
<—>§" g.‘ 14
5u
*132
S5u 5
15 +3s 2
3
N %.. kA
215
40 10| 40 glbn
9u 3u 9 32
175 3 1%
] |
K 2L I
B EES - | = { 03x3
i u i
== E|E !
B 52 52 52 33
Au A u Au Su
276 275 25 155
1 60
15 13 3n
3 B2 - o
8#55\% gtéwg [ hae
2|9 A -l 74) 2|9 1
Gaud §au ¥

I
Q=

38 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for 1 wooden door up to 80 kg (176 Ibs.)

'Hawa [N so0 B

Running tracks

No.
Hawa Junior 80 B, for 1 door 24617
Hawa Junior 80 B, with a 20 mm (25/32") 24851
longer suspension bolt M10, for 1 door
No.
=k
© | ©
Set consisting of: S
Running gear,
2-wheeled, M10, 212 10407
plastic wheels
Stopper Hawa Junior
80/100, with adjustable 212 30138
retention spring
Suspension profile,
plate with screw M10 2 24246
Bottom guide, zero
tolerance, groove
width 10 mm (13/32%), | |1 14427
plastic black
Screw-on rubber door 111 10629
stop
Suspension profile,
plate, with 20 mm 5 24846

(25/32") longer screw
M10, ceiling integration

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

mm
(inch) No.
1,400 10189
@71/8")
1,600 10190
(6'3")
1,800 10191
(5'107/8")
2,000 10192
(6'63/4")
. 2,200
Running track, (258" 10193
aluminum, anodized,
pre-drilled 2,500 10194
8'27/16")
8,000 18532
9'101/8")
4,000 18533
(13' 1 15/32")
6,000 10186
(19' 8 7/32")
cutto 10188
size
%‘000 . 20005
Running track, (18" 1 15/32")
aluminum, stainless 6,000
steel look, brushed, (19'87/32") 20004
pre-drilled
cutto 20006
size
2,000 27673
6'63/4")
2,500 30323
(8'27/16")
Running track, 3,000 27672
wall mounting, (9" 101/8")
aluminum, anodized, 4,000
pre-drilled (181 15/32) 30324
6,000 27671
(19' 8 7/32")
cutto 27695
size
2,000 97677
(6'63/4")
2,500 30320
8'27/16")
o Running track, 3,000 27676
ceiling mounting, (©'101/8")
aluminum, anodized, 4,000
pre-drilled (18" 1 15/32") 30321
6,000 27675
(19' 8 7/32")
eutto 27696
size
2,500 27664
(8'27/16")
Running track, 4,000 27663
ceiling integration, (13'115/32")
aluminum, anodized, 6,000
pre-drilled (19" 8 7/32") 30325
cutto 27665
size

39



'Hawa |9 80 B

Guide tracks

Panel end component set, 60 mm (2 3/8 "), aluminum

mm No.
(inch) No. Panel end component set, left,
60 mm (2 3/8"), anodized 80147
Guide track, for 1300 4
groove mounting, @ ;3/16“) 14540 Panel end component set, right, 30148
plastic, 10-piece set 60 mm (2 3/8"), anodized
Panels
mm © No.
(inch) No. ?_r i
Set consisting of: 3|3
2090 | oo :
Panel end component
2,500 30328 B, left, 60 mm (2 3/8"), | 1 30030
(8'27/16") aluminum, anodized
3,000
Clip-on panel to ©101/8") 27688 ..’ Bracker connector, 111 | 057.3051.101
running track, steel, zinc-plated ’ ’
aluminum, anodized 4,000 30330
(18'115/32") Screw, M4x2.6 mm
6,000 (5/32"x 1/8"), steel, 2| 2| 011.0101.171
(19 8 7/32") 27687 zinc-plated
cutto 27698 Panel end component
size B, right, 60 mm (2 3/8"), 1 30035
aluminum, anodized
Spacer tracks
mm Soft close SoftMove 80
(inch) No. For soft closing in opening and closing direction
2,000 order 2 sets.
/ Spacer track, ooy | 057-3054.200
for wall mounting, No.
plastic, gray cutto | 457.3054.990
size Soft closing mechanism
22444
. i Zo 5 SoftMove 80
Panel end component set, 53 mm (2 3/32"), aluminum "
No. . .
Angled profiles for wall mounting
Panel end component set, left, 53 mm (2 3/32"), 30145
anodized mm
Panel end component set, right, 53 mm (2 3/32"), 30146 ey N
anodized 2,500 24947
8'27/16")
Angled profile for 4,000 24946
wall mounting, (13"115/32")
w | @ No. aluminum, anodized, 6,010
S| S pre-drilled 19'85/8") 24945
Y o | O
Set consisting of: ®|® tt
eutto 24948
Panel end component size
B, left, 53 mm (2 3/32"), | 1 30034

aluminum, anodized

Bracker connector,

zinc-plated

; 1|1 | 057.3051.101
steel, zinc-plated
Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 2|2 | 011.0101.171

Z

Panel end component B,
right, 53 mm (2 3/32"),

aluminum, anodized

30036

40

Subject to technical modifications. Metric specifications are exact. Inches are approximate.




'Hawa [N so0 B

Individual components to angled profile Assembly set for Hawa Adapto 80
No. No.
Assembly set, with countersunk head screw, 29841
g) Assembly set to angled profile, 17786 length up to 2500 mm (8'2 7/16")(8'2 7/16")
/ 10-piece set )
Assembly set, with countersunk head screw, 208492
length 2501-4000 mm (8'2 15/32"-13'1 15/32")
\ Cover cap to angled profile,
both sides, steel, 24932
Y chrome-plated, matt
No.
— | QN
AR
Connecting pins to profiles, — . INERN
s& 2-piece set 21347 Set consisting of: NN
Distance plate
) ; " 212 19398
Hawa Adapto 80 concrete casting system, plastic, 1 mm (1/32")
without fixed glazing
=7 Distance plate
- D )
NE: plastic, 2 mm (3/32") 2|2 19399
Inset profile for concrete surfaces Hawa Adapto 20216
80, without fixed glass, 2500 mm (8'2 7/16")
: = Distance plate
Inset profile for concrete surfaces Hawa Adapto «»"‘,,,e ) o 2|2 19400
80, without fixed glass, 4000 mm (13'1 15/32") 20217 N—"" | plastic, 3mm (1/8")
e &) Distance plate,
7 | plastic, 5 mm (3/16") 44| 19401
No.
=
mm |y & Special countersunk
. - oo e
Set consisting of: (inch) ISR [‘s“,\ screws, 6x21 mm, 112 20844
Inset profile ™ 10-piece set
for concrete
surfaces, 2,500 1 20087 Accessories
without (8'27/16")
fixed glass, No.
aluminum
Cover cap to running track, both 24957
Polystyrene sides, steel, stainless steel look
insert, 1,000
without @szsn | 2|4 19418 Cover cap to running track,
fixed glass both sides, steel, 24956
chrome-plated, matt
Polystyrene
insert, 500 1 19556 Bottom door stopper,
without (1'711/16") with centering, 21473
fixed glass stainless steel look

Assembly clips,
plastic, black, 4|5 19344
without fixed glass

Bottom door stopper,
with centering, 20773
chrome-plated, matt

Bottom guide, rattle proof,
groove width 10 mm (13/32"), 25958
plastic, black, 10-piece set

Cover cap, without

fixed glass, plastic, gray 2|2 19366

Inset profile
for concrete
surfaces, 4,000
without (18' 1 15/32")
fixed glass,
aluminum

1 20088

Subject to technical modifications. Metric specifications are exact. Inches are approximate. 4



m [isllelg 80 B

Further installation examples

Calculations of clip-on panels

47 Schiene/Track/Rail 7.5
34 1 .
i 34 8 16
32 Pin
a 32
H=n
olse R A 2 Se i B
ol - _
S e SES N
— — Clipblende/Clip fascia/Cache a cliqser
= Schiene/Track/Rail + 6 (7"
|25 +4 |25 +4 @) 1{?
3 |4 g 4 G
Schiene/Track/Rail 75
5 AL S
32 32
R |5
32 32 -
Nl
40 40
15" 1%
2|0
N L = oY
8 & 8| % B«
e o = e E-
I n I n
EE EE Clipblende/Clip fascia/Cache & clipser
= Schiene/Track/Rail + 6 (1) 15
Tu
76
Angled profile for wall mounting
45
3
11,32
(74
16
NE=3Q
10 12 1=
QLo Slope Slope gti‘é\% So
2l 2l RS
~holsy 34 el 34 $ -
13 3 22
Tn
8
28
Further installation examples with spacer track 15"
60.5
2
z 535
I
[ Hawa Adapto 80 concrete casting system
i 2|l The Hawa Adapto 80 concrete casting system can be easily
i : and efficiently integrated into the building shell and allows Hawa
. = Junior 80 running tracks to be installed flush with the ceiling.
NSl
54
<27—2> +4 P
: iy 305
18 L]
AR Sl
32 -|= 2|
I8 =|5F
5 b |
17 40 il Bl e
2 19 A
2 16 K=y
7
o
42

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Hawa Confort 120

The convenient solution for inadequate fastening options in brittle
sub-floors or in the area of floor heating. This bottom guide is
mounted on the wall. Details and accessories from page 476.

'Hawa [N so0 B

Version with 20 mm (25/32") longer hanger bolt
Thanks to the 24851 set, the running track can be covered
from below, using removable ceiling elements.

34
11
10 40 T3
3u 120
8 16
Demontierbar
Removable ]] Qote
Demontable —
/ ‘ | SISE]
I ol
10 , &
3
Shae <21—2“ Demontierbar
& 8 Removable
| Demontable
3020135 s
1%” (%.._1%..)
40
1%
Ceiling integration
Recommendation: For systems integrated into the ceiling,
provide assembly openings or front access to the system —
front access of SoftMove is always mandatory.
72
Z%u
Demontierbar
Removable
B Demontable
— _ e
l o o
=1 !
O’
' l I Rtﬁw%\\
- whe
&)k N
+4 ~ "
22 -4 s
In
8
nER y_ 52 52 52 ¥ 33
e ol ol ol Tz
- -
40 w22 130 2
N~ on In 3n
17" I 215 % 2
I n 8%"
ElE
10
134 - =
52 S NES
Kyl EES
— SlER o
R 34

1n
13

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

43



m [isllelg 80 B

SoftMove 80 soft closing mechanism
Completely integrated into the running track, the SoftMove
decelerates sliding doors and draws them into their final position.

—
o o
130 130
53 5
STB > 690
STB>2' 81"
V
o o
130 130
a0 %
STB > 1030
STB>3' 43"
Accessories Planning/execution
— Hawa Junior bottom guides for wall mounting from page 476 HAWA Junior 80 B mod. is now called Hawa Junior 80 B.
— Lock solutions from page 479 Same product — new name.

— General accessories from page 487
Further information about the product can be found
on www.hawa.com.

44 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



